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Where    
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The complete angle with required precision is executed in several iterations. In matrix form we can write the above Eq. as:
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The general representation of above Eq. with taking cosφ as common from Eq. 4 
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In Eq. 5 if we adjust the angle steps for iterations and make it a power of 2 so that it can easily be handled by a simple right shift, it follows 
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Where 
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With the combination of Eq. 5 and 9 
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Now in the above Eq. we see that we have only few shifts and adds beside cosnφ which can be computed by taking cos of Eq. 6 for all values of n we name it a constant K 
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Taking K as a constant we simplify Eq. 10 
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In Eq. form we can write above matrix as 
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As we are talking about hardware we have to cater the angle 
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as a binary shift which represents powers of 2. 
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